d-feasible-fair-fifo'!4°

VD:Dsys, sched:(Id—(?(N —(IdLnk + Id)))), v:(i:Id—M(7).(timed)state),
dec:(i,a:1d— N —M(q).state—(?if a € dom(M(7).prob) then Outcome else Void fi )),
discrete:(Id—Id— B).

Feasible(D)

= d-feasible-discrete(D;discrete)

= (Vi, x:1d. ({(discrete(i,x))) = constant_function(v(i,z);Q;M(7).ds(x)))

= (Vild.

(VI:1dLnk.
(destination(l) = %)
= (TM(source(l)) sends on link )
= ((Tisl(sched(7)))
cA (Vi:N.
3t":N
((t < t') & ((1isl(outl(sched(i))(t"))) cA (outl(outl(sched(i))(t)) =1))))))
& (Va:1d.
a in dom(M(i).pre)
= ((1isl(sched(i)))
cA (Vi:N.
3t":N
((t <)
& (1 (—pisl(outl(sched(i))(t)))) cA (outr(outl(sched())(t')) = a)))))))
= FairFifo

http://www.nuprl.org/FDLcontent /p0-963683_/p75-206182_{ d-feasible-fair-fifo}.html



